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PART A
ANSWER ALL THE QUESTIONS

1. Define the term balanced budget.

2. Describe the division of tax burden.

3. Define the term taxation.

4. Explain briefly the concept of Public Expenditure.

5. List the various types of public finance.

PART B
ANSWER ALL THE QUESTIONS

6. Examine the factors responsible for market failure.

5X2M=10M

(C02,C03,C04,C05,C0O1) [Knowledge]

(CO1,C05,C04,C03,C0O2) [Knowledge]

(CO3,C01,C02,C04,CO5) [Knowledge]

(C0O4,C01,C03,C02,C0O5) [Knowledge]

(C0O2,C01,C05,C03,C0O4) [Knowledge]

5X10M = 50M

(C03,C02,C05,C04,C0O1) [Comprehension]

7. Explain the major trends in tax revenue of central and state governments in India.

(CO4,C03,C05,C02,CO1) [Comprehension]

8. List the sources of public revenue. Explain the difference between impact of taxes and incidence of

taxes.

about:blank

(C0O5,C0O1,C02,C0O3,C04) [Comprehension]
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9. Outline the good characteristics of good tax system.
(C0O1,C02,C04,C05,C03) [Comprehension]

10. Highlights the flaws where government expenditure is necessary.
(C0O5,C04,C03,C02,CO1) [Comprehension]

PART C
ANSWER ALL THE QUESTIONS 2 X 20M = 40M

11. Distinguish between Wagner’s Hypothesis and Wiseman-Peacock Hypothesis. Identify which theory
is more realistic and why?

(C0O3,C05,C04,C02,CO1) [Application]
12. Examine the macroeconomic effects of the rise in public expenditure on the Indian economy.
(C0O1,C02,C0O3,C04,CO5) [Application]

about:blank 2/2



